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B B % ouT IN GR HDCP NET kel
1 AE RA 43 52 95 28.0 67.0
2 =i B’ 42 45 87 17.0 10.0
3 Z=im =R 50 60 110 39.0 11.0
4 HEF ®EA 45 45 90 18.0 12.0
5 MWFE & 417 48 95 22.0 13.0
6 KK i 44 41 85 12.0 13.0
1 BR 9 50 49 99 25.0 14.0
8 ZH wEEE 45 44 89 15.0 14.0
9 HR EZ= 44 40 84 10.0 714.0 BG(A-II)
0 ZHA RX 46 51 97 22.0 15.0
1 LERF EZ 52 52 104 29.0 75.0
12 Rl 43 55 98 23.0 15.0
13 WFx #HK 57 48 105 29.0 16.0
14 INEE HIRF 45 48 93 17.0 16.0
5 T8 BT 44 52 96 19.0 11.0
16 LG JEE 45 45 90 13.0 717.0 BG(A-T)
17 =ZF FF 54 48 102 22.0 80.0
18 A Imi 57 52 109 28.0 81.0
19 INEE SR 50 48 98 13.0 85.0
20 BER BRA 50 53 103 17.0 86.0
21 BF BX 55 53 108 14.0 94.0
22 Ll F2EB 53 64 117 22.0 95.0
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B K A ouT IN GR HDGP NET 5=
1 He = 46 49 95 30.0 65.0
2 HE BN 35 35 70 3.0 67.0 BG(B)
3 TH = 45 41 86 17.0 69. 0
4 HE B®E 44 39 83 14.0 69.0
5 FAE —m 44 48 92 21.0 71.0
6 fEIU BE 40 43 83 12.0 71.0
1T #HF @B 48 49 97 25.0 72.0
8 fAK F— 43 44 87 14.0 73.0
9 JEHR =T 45 46 91 18.0 73.0
0 WK E£== 37 36 73 0.0 73.0
" RE 41 42 83 9.0 74.0
12 JtEF B 43 49 92 18.0 74.0
13 RE EE 49 43 92 17.0 75.0
14 EHR B4 46 51 97 21.0 76.0
15 % RBIA 46 52 98 22.0 76.0
16 [@% Ei& 47 44 91 15.0 76.0
17 BB EE 50 50 100 24.0 76.0
18 Bk 44 46 90 14.0 76.0
19 BKXK EA 46 43 89 13.0 76.0
20 Hhb & 45 38 83 6.0 71.0
21 gHIL FF 43 46 89 12.0 71.0
22 EBJR —3h 46 49 95 17.0 78.0
238 MM (= 51 52 103 25.0 78.0
24 IR ZEER 50 43 93 14.0 79.0
25 PIAIR EE 46 43 89 10.0 79.0
26 JIE PESE 48 47 95 15.0 80. 0
21 T X 47 48 95 14.0 81.0
28 EHY EF 48 59 107 26.0 81.0
29 BN FEF 51 49 100 19.0 81.0
0 BARE BAE 54 51 105 23.0 82.0
31 AR EX 51 50 101 19.0 82.0
2. HE F 47 49 96 14.0 82.0
33 RE KE 49 51 100 17.0 83.0
3 JIkF B 46 53 99 15.0 84.0




